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cinco fracciones, orden de operaciones con

paréntesis
Nombre: Fecha: Puntuacion:
32 1 1 1 12 1 12 21 12
G-9% 537G 377" 3G
2 12 11 32 2 3 > 3
G+’ 36D @-3P-7+4 -3
1 2 1 3 2
2 2 2 2
— )Y - x4+ Z = 24 =Y +—-—=—4° =
B30 —3x4*3 @37 *3575
2 12 23 32 1 12 22 1
(5 3) 3(5 (4) ) (4 4) 3(5 6)
2 22 2 3 12 32 3 1 1 12
Z 4+ (= ZH(Z+ )Y = ZY —I)X —F (= + ) =
GHEI* TG+ GP-Dx5+G+3)
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L2

cinco fracciones, orden de operaciones con

paréntesis
Nombre: Fecha: Puntuacion:
3, 1.1 1 1, 271 11,
—_ —_— - _— —_— — _ _+_ — —
(337G 77 "1 G+7 ( (5 )) 108
2 1, .03 ., 3 67 3
-+ - =(—— 2— =)y —=-+4"—-=—=16-
(5 4) ( + (= )) ( 400) ( 2) 1 172 64
1 238 13 1, 3 2 859
3— P —— x4+ =32 2+ Y+ Z 2 ===
B3y 34 +3= 55 735 @+ +3753 A )
2 1, 923 I 1, 22 1. 73
i - R+ S(E- =2
(373 ( ( )) 1800 G2 736787 1%
2 2, 2 01 26 3, 3.1 1 1, 89
24z (24P = =3 CR )X (o P =
(3733 ( ) 25 205 (=375 73 = 50
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